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29 maintains; you divide - 3279 AN 29

OVERVIEW

Our X723 contrasts the case of X298, where the ruling is 723 2°2X7 %3, with the case
of X o2 PRXI MY "2 where there is a dispute between 17, who maintains
P2, and PRMW, who maintains X177 X7Ww. Superficially it would seem that we
are contrasting X2 (and 2"X72) with both %Xmw1 27 (regarding nmnww '2), for
neither maintain 3"X72 by n1Mvw '2. The X773 in M21ND explains the dispute between
DRI 27 in two ways; either 21 maintains >n7> 72°01 7Y and XMW maintains 7Y
N7 77°0n, or both maintain °nN72 »"¥, and their argument is whether 7°7v Y2171 or
727y XMW, Our Mo0IN discusses this issue.

— (29 NHNN NPT OVI R, T 9T MAN) NI NINY M) PO YIONT NIYIY NINNY

According to that opinion in "2 5757w S» P95, which explains -
— 192 NNNN 1Y HINRT 9NN 290 9207 DIVN 297 NIYyLT

That the reason 27 rules Y2171° is because he agrees with "2 who maintains 7y
SNR2 Rnn -

— 1P TNRY 700DIY NIP0M HTY KON 1IN 179N 799
And therefore the rule is Yy2¥»m even if there are 77%» ¥ that one “ww was

delivered to one party before the second "ww was delivered to the second party,
nevertheless the ruling will still be Y7 -
— (3,7597ppon DIN T WA NINTH 20N 31 9953 PN IIINNA TINNT 11D

Since it is not evident from the signatures (of the 11"v) who preceded whom; as

is evident in the beginning of wx7 %> P79, that if we maintain >n75 1"y, then all the
rulings must be based on the 1"y and not on the n"y.

moon will now prove that we must rely on the n"'v exclusively, if we maintain °n2 1"v:
— VPN NN N YN XY NDITHN NN I WD And )nT

For we learnt in a /mwn»; ‘he wrote a v» with the intention of divorcing the older

wife, he should not use this ©3 instead to divorce the younger wife’, even if they

have the same names (since it was not written [and signed 7nw?] for the younger wife) -
— ATYIN 929 NI 1TYA NY PN N2 YN I8N NDITH NN P90

And the X713 infers from this 71wn, that he cannot divorce the mvp, but he can

! mooin will shortly conclude that according to this view (that 21 maintains °n73 1"y), there is no question on 11 27
from 27 as to why we do not rule 2171 by X27K; the question is only from HRmw.
% See footnote # 4 & 8 (for a more detailed explanation).
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divorce the 17173 with this 03 (since it was written for her sake), and the X723
establishes this wn (from which we inferred that he can divorce the 77173), that

there are n"'¥ and the 71wn follows the view of X' who maintains *n15 2"y -
— NP0 1Y NIONT 23 5Y GN WM S8 RY NIT) 1999N 9981 ¥29Y Yan

However, according to »'% (who maintains °n72 11"V) he will not be able to

divorce even the 79173 with this v, even though there are »"y present, who will

vouch that it was indeed given to the 77172, The reason it is not valid is -
— 191NN 1Y TINM 9953 PRT 1
Since it is not apparent from the 1"y who is being divorced.’

mooin qualifies this ruling:
—*q0wa MPY 99192 IN NINNIA 90

And the case of mIvw '2 (where 27 rules y19m°) is discussing a gift or a sale in

which the means of acquisition was with a “vw -
— FNIY NIN 1299 90YH PRT POOINA IN APTNA IN G093 NP ON YaN

However if he acquired the property through money or 777117 or 1°5°%11, where the

purpose of the =uw is merely for proof of ownership (but it does not create the
acquisition; this was already accomplished by the 121 703 11p) -
— 7ONTY NYN CPNT 1199 DRONINA 318 TINM 9953 NIPY T8 PRT NIV 1P98NT 29 11N

21 agrees that we rule X7 like ?X1W (and we do not rule Y21717°), since it is not
necessary that it should be evident from the "'y who was first, since this W is
only for proof.”

Now that m»o1n clarified the reasoning of 27, he concludes what he began to say:
— 11N THR 0127 113 *01%Y YU XA P72 BNNT RIN 290 599 XY YUY IMNY

According to this view (of *n7> 11"V) the X713 here is not challenging 7r1 17

> When we read this vx that 2py° divorced 7%, we do not know whether it was it the older 7x> or the younger 7R?;
even though we know (through the ") that in fact it was the older niX?, nevertheless since it is not evident from the
1"y, it is not a valid vi. This is one of the consequences of *n73 n'"v.
4 Similarly here by the n1mvw '3, since it is not evident from the 1"y on the 7vw who was first, it is considered as if
they both received it at the same time (at the end of the day), even though the n"v testify that this one preceded the
other.
> It is only then that 21 rules 1p12m, since it needs to be evident from the 1"y as to when the 13 took place.
® The n"37 M7 amends this to read 1R7 instead of 1X7. [See ‘Thinking it over’ # 2.]
" In this case, the one who acquired it first (through 7Pt ,703 or Po°91) is the rightful owner, and since we do not
know who it is, we rule X7 (but we do not rule 171>, which is not true, for it belongs to only one of them).
¥ The ruling of 27 that 19151 by mnvw ' is not because we do not know to whom it belongs, so therefore we divide
it, but on the contrary we know that it belongs to both of them, since the 1p for both of them becomes effective at
the same moment (at the very end of the day). However by X279X where we do not know to whom it belongs to, 27
may agree that 3"X72.
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from 29, for there by m7vw "1 it legally belongs to both of them since they were

signed on the same day -
—7999 UNMYN NOHN

Rather the question is from bR, why does not 1am1 27 rule X1 by X2 —

mooIn clarifies this question on 1" from HXnw:
— 99V NN AYY? 129N NNV N1 2TT XTIV %9597 0N 13939 YW1V

And according to the explanation of the n''s, who explained X177 XTW to
mean, whatever the 197 wants to do he can do, then the question on 1"7 from

Sxnw is understandable -
—IITT KTV TPV 'MAN SV 9N Nta 99 NONT

For here too in the case of "max »w =»R 77, the ruling of NI»™77 RTW is

applicable; the 77 can grant the X329 to whomever he decides -
— AU APV PN PNV PATY ANNY MY XNV urany D090 Y1aY Yax

However according to the explanation of [the 0"2w"] who explains that X7

means to whomever it appears to the 17 that he liked him more, it is difficult

to understand the s'&772) question -
— PRI 7Y NY SN YV 910N N2

For by "max 5w ==K 71 the idea of X712 is not applicable."

mooIN attempts to justify the 2"2w"7 o:
— 4N D9372 NNN ANRIIY 29D DTN NNY YD) PINTD UN

And it is possible to explain [with difficulty] that X7 by X27X means that the
217 should give the X2 to the one who is more convincing in his claim.

Mmoo concluded explaining the X3 according to the Xiw° that 27 maintains >n72 1"v:

— (BYY 3,78 91 M5 MY YAV T NXIWY NINNYT 1w
And (also for) according to the opinion in %2 7757w 12 P75 -
— 929V NN NOMY NPITNT 29D ND NI2D) MTYIN 2297 NIIIN UNINWI 299 XNNDO Py

? bXmw maintains N3 n"y, therefore it belongs to the one who received the 70w first, and since we do not know who
it is, we rule X7, the same ruling of X7 should be by X27& where we also do not know to whom it belongs.
' See X7 7"7 '010 on this 7.
' See 177 X7 "7 2w
"2 When we are discussing a 7an» @ (or perhaps even a 12» T0w) we can speculate to whom would he likely give
the present (or sell the field) and that would be the *1>77 XTW; but by *maR 2w X 71 how can we speculate to whom
it belongs?
" The difficulty according to the 2"2w1 " is on whom is the X3 asking; it cannot be from 27 as nMooN explained
previously (for he maintains >n15 1"y and there is no Pad); it cannot be from PXw for XRTW is not applicable by 827!
' The n"an M deletes the word 71 and reads X771 instead of X177,
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That establishes the dispute between X121 37 according to X'"9 (that both 21
XMWY maintain °n7> »"Y), and 29 maintains that dividing is preferable over
N7, then the X713 here is properly understood -

INTI»P310 BNN NANT TPy NI PYWY IMNY a9 Pyeeae
That the question is [also] from the ruling of 27 that y»%1°, and that view (that
DINMYY 27 maintain °n72 ") is the main view as is evident there in the Xn»ma.

SUMMARY
The question from NMAvVW "2 (according to 27) can only be if we maintain °n73 2"y,

THINKING IT OVER
1. If we maintain 072 1"y, what would be the ruling if someone gave a 7in»n VW to
his friend and before the day ended he retracted the gift?'®

2. MooIn writes that in a case where the 1°Ip was not made with a qvw (so °n7> 1"y
is irrelevant) than 27 would agree that we rule X71w."” n9oI1n continues to say that
the question on 1" is only from 2X1w, and not from 27. However if 21 also agrees
that where "n73 1"V is irrelevant we rule X7 and not 2"'X72, the question is from 27
just as it is from 2Xw! Seemingly M»oIn should have written that when the 1°1p is
not with a "W, the ruling according to 27 will not be Y171, but it could be (either)
3"X73 (or XTIY).

'3 The 27 nAa amends this to read 27 198K 7917
'® If we were to ignore the two previous n"a7 N (in footnotes #14 & 15) we could say that Moo is offering
another answer to his question on the 0"2w9, namely that the s'® 3 question is not from XMW (because of the
difficulty with X71), but rather (only) from 21, according to the X1w°? that 27 also maintains >n13 2"y.
' This assertion of Mo seems difficult since the X3 there after saying that HXmun 27 agree with X", refutes it
and concludes X'"13 XMW 1"73 277 RN XOR! See »'"'ma.
'8 See X"awM 7"am.
"% See footnote # 6.
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